


3apa4va Ne1 NaHo: ABCD -
pomM6.

Haumu: MD + DN




HaHo: ABCD —
poM6.
Haimu: £ZLABC

K

3aaaya Ne2



3aaayva Ne3

[aHo: ABCD —
keadpam , PK =
2acm, AK=Db
CM.

N Haumu: P ABCD

A bcm K D



3aaaya Ne4

1) QaHo: ABCD — kBagpart, MN || AD, EF
|| CD, BE =8 cm, AM = EC =2 cwm.

B E

Hantu: S .\«




3apgava Neb5 OaHo: ABCD — npsiMOyronbHuK.
AH = 5cwm.
Hauntu: OE.




3aaaya Neb6




3apgaya Ne7

2)

A D
ABCD — napannenorpamm
Hantm AD, CD



3agaya Ne8
B F C

A D

ABCD — napannenorpamm
Hanty /C,,/ D



3aaaya Ne9

Iano: BE || CD.
Ha¥lTH yIjbl Tpanenuy.



3apa4va Ne10
6) ABCD — tpanenis
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